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1. The Keynesian school of thought argued that all sector of the economy should 
participatein economic activities, that the problem could only be solve if the ___ 
participates in the economic activities
government sector
2. The classical Economists established equality between savings and investment at _
equilibrium level
3. National income models can be classified into two, namely classical model and _
Keynesian model
4. The study of National income in Macroeconomics is the measurement of aggregate 
outcomes of economic activities in a particular period of time usually a __
Year
5. Classical Economics is the school of economics thought headed by Adam Smith in _
1776
6. _ method values GDP as the sum of final incomes earned by factors of production 
located in a country for the production of goods and services for a defined accounting 
period
income method
7. _ is a method to present statistically the interrelationships between the different 
sectors of the economy for a thorough understanding of the economic conditions of the 
economy
National income Accounting
8. Equilibrium national income changes if injections or leakages _
Change
9. The classical model was the first national income model dated back in __ century
17th
10. National income account is the record of all __ activities in a country during a 
particular period usually a year
Economic
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